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Aditi. Policies to reduce in -

- employment ( when u is too high )

① Wage policies : minimum
wage, wage

tax

② Public employment

Pa¥i: Policies to improve

situation of unemployed workers

③ Unemployment insurance

-

Mimimunwajei Assume all workers are paid at

W . What happens when minimum

wage goes up
?

Use matching model w/ job rationing i

• Wage function : W

• Production function : Y -- a
Nt

,
02hL I

• Laba supply LS ( o) : unaffected by minimum wage
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Increase in minimum wage W : Lao)
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Optimdminimumwagei Minimum wage that

maxinizessocialwelfae : minimum
wage

that brings 10 to 0
"

( efficient labor matfegtfnus ,
4 to Lf*d*, tho)
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c-
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: optimal minimum wage → maximize welfare
• : efficient tightness →

O
't

given byfamed

• It .- Ls lot ) : float . H
s t 110*1
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• If currently {Of { Out : then need reduce W tow

. If currently { 9,29, ; i then need increase w tow

Empinicaleoideuaonminimumwage.ie
Empirical literature is divided in 2 camps :



Mimic: consistent with our model

Minimmuumpm:

Not consistent with our matching model → modify timpone
the model to explain this fact . Need to inahoduee

new elements such that minimum wage
dos not

depress labor demand
.

① Efficieny-wageelemenk.labn productivity
increases w/ wage : a = a ( w) w/ a' ( w) > o

In labor demand : a- = a ( w )

W T

If alw)/W n constant → w doe not affect
Ld ( O ) → minimum

wage
does not reduce

employment -

I can we still explain business cycles ?

② Aggnegate-demandelements-wt.es disposable
income t

⇒ spending T
⇒

sales T ⇒

"¥pty
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could introduce a ( w ) w/ a
'
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taxlsuboidyawagefndangeinpaynolltaxl.TN
:

wage received by workers ( wage net of tax )
• t : payroll tax Usi t w 779*1 stofund VI system

A-ssamethatfinmspaypaynollta.w.gepaid by firms : ktt)#W

•
labor demand is modified by payroll tax :
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When t t :
Ld ( G) t → same as increase

in minimum wage

- when t t : Ld (o ) T → same as
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Optimalpaynolltaxti ( to maximize welfare
→ reach at j

effy.
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Optimal payroll tan such that Ld 6*1=11*10*1
Solve Ld (Gt) = L
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could be so a L O -

A If payroll hen paid by firms ( incidence of tan
is on firms ) : payroll is effective tool
But if payroll tax paid by workers (

' of
tax is on walrus) : firms & labor demandare

unaffected by tax -s tax is completely
ineffective



Publicempeoymenti
- # wakens in public sector = AIof # workers

in economy

- spending on public wakens = 631 of govern -
-

ment spending .

-
stimulus packages often raise public
employment . txample : US New Deal .

Inbnodncingpubhiemploymentimr-mahingmodd.ir
Matching process : public I private workers are part of-

same labor market .

•
V : tf vacancies from firms t # vacancies from

government .

• O -

- VI Ll

• S : job - separation rate applies both to

private firms & government
• m ( Ll , V ) : gives It matches on aggregate

inn.hn?min:neeegT.Tg.Lamenrmarket.Cfinmstgomnmn4
public & private jobs private firms

recruit workers

indiscriminately



- Labaouppeymotaffedredbypublicempeoy.me

"f"a÷
private employment
+ public employment I Qggregate employment

Labademandismodifiedbypablicempeoyment.ie
Aggregate labor demand

= Private labor demand t public labor demand
( by firms ) ( by government)

=
Ld ( o ) t G

= I
'ha to

•
Production fund-im can care ;

Y = a - N d OL L L l

• Wage is rigid :

W = w .

at 0 ↳ TL I

Labamarheteguilibn.am#Ldlo) + b =
Ls lol
-
--

aggregate labor aggregate
demand labor supply



Diagnanwithpublicemploymendcai.ae : aggregate
" lol
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demand Equilibrium when
G >0

Private employment

• wean . . .

agg.g
, .µ,
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Introduction of¥ G> o leads to :

• Aggregate employment L T

• Tightness o t

• Unemployment U t

•
Private employment Ld ( G) t

→
there .ba#out of private employment by

public employment .

Pubhi-empeoymentnmltiph t

Dfim : additional # of workers employed when I wakes

is hired in public sector



i-d
computational Ld ( O ) = Ls ( E )

GI : Ld (E) te =
LS (E)

Implicitly , O is a function of G throughequilibriumcondition -

Inueaxpublicemploymenbbyd
• Employment clangs by DL

• Tightness changes by do

① Compute do

② Infer DL
→ d = dlldb

Ld ( 8) to =L
S ( o)
- -

LHS RHS

DG
→ dulls I DRHS

Since equilibrium condition is valid before &

after change DG
,
then dLHS=dR



•
DRHS = do .

do
→

•
d LHS = dld

.

do t db
To

Hence : dated .

do t DG = dates .

do

[ dats - dated ] .
do i do

[ data - dado ] . dado =
I

I
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TO TO Assumption Cobb -
✓

Douglas matching
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• Ebd = - Ia - z . T

EY -

- dated = Ea - dado
ft- G Ld
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Multiple : b : d1 and Lill
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kdato-it.hn#ii
Pnoputiesftfepublic-employmentmulh.pt#
① I > o .

When public employment T
,
then total employment T{ unemployment d

② X L l .

Total employment increases less than public

employment - Unemployment decrease by less

than public employment increases
.

This is b/c private employment is crowded out .
When public employment t, private employment d ,
so total employment t by less than public

employment.
→ crowding out b/c G t when G M

-

③ X is X is large when 0

( L) is low bat x is low when ,q,
is high -

Good times ; low x / Bad time : high t .

I



Proof : Hot 1-
-

it Fn. - - EYE,
d
, Z ,

6 i
. same over the business cycle

g-oodt.es : uco) : low

His high) Tco) : high
) Eff

,

is high ⇒etoH④
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X' lo) L O so multiplier is counter cyclical

seep ( low labor demand )
on Motta- do

d £FhY!!
'

db > o .

at"¥¥i÷t÷÷:÷÷÷÷÷÷.
°#a

O L Ltd G H



4<NdM /v r1.c.ff.i,_ 
�fo1fli't<. � J & -

I Jg -41 .. ,_
G �___;_---===--=--=---=----• -----=--......_ 

i) L 

G- +i fr 

l

mailto:d@oLsioyBoomi.fhinghlabademandlihHtGqddoZnIp.eo
mailto:d@oLsioyBoomi.fhinghlabademandlihHtGqddoZnIp.eo



